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U.G. 3rd Semester Emmmmﬁom - 2019

ECONOMICS
[HONOURS]
o Course Qode EC@H—@C—T—VI
'Full Marks : 60 R - Time : 2+ Hours

The f igures in the rzght-hand margzn indicate marks.

Candidates are required to give their answers in

l‘h_ezr own words as far as practicable.

1. Answer any ten questions: | 2x10=20
- Vr*ﬁﬁt‘ﬂ?i Teame e |
~4d) Drawan IS-'CUI"VC and interpret it.
G5 IS G % 96 GBCE T T |

b)  What will be the shape of the LM curve if mdney N
demand is interest insensitive? '
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_c) Define ‘rowding out' effect.
'Crowding out' .'?K_-:‘t:ﬁ—tﬂﬁ LR VIS |

1) . Distinguish: between real and nominal money -

balances
e 8 ‘amm— H‘WWWQW 1
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What do you mean by money wage rigidity?
I TR SANTS! s {5 @Rl

How will the equilibrium income and rate of
interest change if both expansionary fiscal and
monetary policies are adopted?

WWW 8- T NS oxerfze o
SISl Gk 0 2 1 ©icT ~AfiafEe 2

Mention any two causes of unemployment.

I3 @ R o e S

- Define 'natural rate of unemployment'.
(PR FOIRT QT T wie |

. How does the aggregate demand curve shift

when money supply increases?

ffFfoe 272 - |

How does a supply shock cause inflation in the
country? ‘ |

e T g

What do yoﬁ, mean by demand pull inflation?

‘Show with the help of a diagram.
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"Other things being equal, the larger the effect
of a change in money supply on demand, the
flatter is the IS curve. "__Explain.
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Mention four major types of unemployment. -
I BTE LA ([0S O 9|

Why is the aggregate supply curve vertical in
the long run?
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. 0) Mention two factors responsible for cost push
" inflation. "
wr-ara gEriie-as 7' a4 S S |
2. Answer any four questions:  5x4=20
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Derive the slope of the aggregate demand curve
and interpret it. a
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Explam bneﬂy with a diagram, the adjustment
process that takes place when the economy is

in a disequilibrium position in the IS-LM model.
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c)  Discuss the effect of an increase in autonomous

investment on equilibrium price and output in
the short run.
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< - Distinguish between: N 2

: /r) ~ adaptive and rationai expéctation
| wfsriEe qs IfesTre 2ol |
AL cyclical and frictional unemployment

B e) Brieﬂy discuss the effe'cf of wage cut policy on

unemployment

'mﬁrﬁ-ﬁﬂa T msz%ﬁ T Tex ge™ v{\mﬁ
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ﬁ - Write a short note on cost of inflation.
Wﬁaw’,wﬁaﬁmﬁ@ﬁaﬁ @
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3. Aﬂswer any two questions: | 10x2=20
A~ 70 Arig e we ¢ -
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Derive the Balanced Budget Multiplier (BBM)
in IS-LM model. Why is the value of BBM in

1IS-LM less than the value of BBM in SKM

model? : 6+4
IS-LM ot pieiis aiees el e w91 97
SR N SKM-7 Qo 1S-LM 0wt 0 (3 ?

Make a comparative analysis of the
efféctiveness of fiscal and monetary Policies
in the IS-LM model. | 10

“IS-LM SOt e D @ wfefs e
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' Derlve the aggregate supply curve in the

following cases: 5+5

ﬁ‘ﬁ%{ﬁ— cRaafeire SN @isi @t W = e

i) fixed money wage and

@a/mﬁzr R RUEN
if) flexible money wage.
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Explain the trade-off between inflation and

unemployment described in the short-run

 Phillips Curve. How is the long run Phillips

curve derived from the short run Phillips curve?
| 5+5
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